Assembly Instructions

Full size bed frame

Precautions:

1. It is recommended to wear gloves for assembly to protect hands from injury,

2. When assembling, please strictly follow the installation direction and order in the instruction manual.
3.Tighten the screws after two or more parts have been successfully assembled, Tightening the screws early will
cause the parts to be disassembled and reassembled.

4.Please place all parts correctly to avoid unnecessary trouble.

Thank you for your patience in reading,. Wish you a happy life!







QTY

QTY

£77
\




10

QTY

X 2

X2

X 1

x 1

N

X1

M8*12
&

X2

@ Q@ 0 @ e ©@*

M6*12

X 12

M6*30

X 6

S | ©

M6*55

X 18

# QTY
U / 1
Vv / 1
) <;2;;?;;> 1
# Qry
@
@
K)) x 20
@ X 28
®
® o> X 24
@
© — x 16
© @ il P
&) x 4

(NO INCLUDED)

X 1




Step 1




Step 2

e

D x 1

Ex1 Fx1 Gx2 Hx2 @x12 Vx4 43x2

@
N\
@




—
dx12 Ox16 10xs 14 x1




Step 4

Z x1

D=

x2

@
x8 x1




Step 5

!(!"!@@@(rg@@w.@
T em——"

P

Jx1 Kx2 Lxt1

19 x 6 20x 104)x 4

x2

Mx1 Nx2







Step 7

x2 @x1

x6




Step 8

g
@@

®x4 @XS ®X4 @X1

e







Step 10




Step 11

@xz

O

&

x4

@x12

X 1




Step 12

//
//
K
| !'/!'M ¢
VANG#L
1)

\\
[/
ﬁ

< ) \ Q a |




	铁床AI P01
	铁床AI P02
	铁床AI P03
	铁床AI P04
	铁床AI P05
	铁床AI P06
	铁床AI P07
	铁床AI P08
	铁床AI P09
	铁床AI P10
	铁床AI P11
	铁床AI P12
	铁床AI P13
	铁床AI P14
	铁床AI P15
	铁床AI P16

